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Descomposición del 
dividendo

1. Resuelve las siguientes divisiones usando la estrategia de descomponer el dividendo.

68 : 2 =a)

( )+ : 2

( () ): :+

+

b) 45 : 5 =

( )+ : 5

( () ): :+

+

44 : 2 =c)

( )+ : 2

( () ): :+

+

d) 46 : 2 =

( )+ : 2

( () ): :+

+
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93 : 3 =e)

( )+ : 3

( () ): :+

+

36 : 3 =f)

( )+ : 3

( () ): :+

+
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1. 

Resultados:

60 8

60 2 8 2

30 4
34

34

40 5

9

40 5 5 5

8 1
9

22

40 4

40 2 4 2

20 2

22

40 6

40 2 6 2

20 3

23

23

90 3
90 3 3 3

30 1
31

31

30 6

30 3 36

10 2

12

12


